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#include<bits/stdc++.h>

using namespace std;

const int N=3e3+20;

int dfn[N],s[N!,top,low[N],cnt;

int sc,scciN]|;

bool in[N];

vector<int>adj[N]|;

void add(int u,int v
adjlul.push back(v);

void tarjan(int u
dfniul=low|/u|=++cnt;
s ++topl=u;
in[u]=1;
int i=0;i<adj[u].size();i++
int v=adjlullil;
ldfnv
tarjan(v);
low|/u/=min(low|ul,low v

in[v
low|[ul=min(low/ul,dfn[v

dfnful==low|u
++SC;

scclsltopll=sc;
in[s|topl|=0;
s[top--]!=u);

int n,m;
bool solve
int i=0;1<2*n;i++
ldfn[i tarjan(i);

int 1=0;i<2*n;i+=
scclil==sccli+

.
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void init
memset(dfn,0,sizeof (dfn));
memset (low,0,sizeof (low) ) ;
top=cnt=sc=0;
memset(scc,0,sizeof(scc));
memset(in,0,sizeof(in));
memset(s,0,sizeof(s));

int i=0;i<N;i++) adj[i].clear();

int main
~scanf ("%d%d",&n, &m
init();

int i=1;i<=m;i++

int al,a2,cl,c2;

scanf("%d %d %d %d",&al,&a2,&cl,&c2);

add (2*al+cl,2*a2+1-c2);//000 1 0000000 2i+]1 ODO00O0OQ21 O
ogooao

add (2*a2+c2,2*al+l-cl);

solve puts("YES");
puts("NO");
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#include <bits/stdc++.h>
using namespace std;
const int maxn = 1le4 + 5;
const int maxk ;
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int n, k;

int id[maxn ;

char s[maxn , ans[maxk];
bool vis[maxn];

struct Edge
int v, nxt;
e/ maxn * ;
int head/maxn!, tot = 1;
void addedge(int u, int v
eltot].v = v;
e[tot].nxt = head|u];
head/u| = tot++;

int dfn[maxn], low/maxn|, color[maxn]|, stkimaxn|, ins/maxn|, top,

dfs clock, c;
void tarjan(int x
stk[++top] = Xx;
ins[x]| = 1;
dfnlx low! x| = ++dfs clock;
int i = head|x]; i; 1 = e[i].nxt
int v = e[i].v;

Idfn|v
tarjan(v);
low/ x| = min(low!x]|, low(v]);
ins|v
low[x] = min(low(x]|, dfnlv]);
dfnix] == low[x
C++;
color/stkitopl| = c;
ins|stk[top!| = 0O;
stkltop--| I= x);
int main
scanf("%d %d", &k, &n);
int 1 = 1; i <= n; i++
int j = 1; j <= 3; j++) scanf
int j =1; j <= 3; j++
int k = 1; k <= 3; k++
j =Kk ;
int u = * idlil[j] - (s[i]l]
int v = * id[il [kl - (s[il[k

addedge(u, v);
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int i ool == * k; i++
ldfn|1i tarjan(i);

int i Pl <= * k; 1 +=
color[il == color[i +
puts("-1");

I

int i = 1; i <= * k; 1 +=
int f1 = color[i], f2 = color[i + c
vis[fl
ans| (i + >> = 'R';

vis|[f2

ans| (i + >> = "[B":

fl < 2
vis[fl] = 1;
ans| (i + >> = 'R';
vis[f2] = 1;

ans| (i + >> = 'B';

ans 'k + = 0;
printf("%ss\n", ans + ;

’
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